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Analyzing 2n part of 1% dispute (n”2/w”1) in mwn — status of N1V DT of NyXN

a

Rationale for 7174’s position (like 7791 717): per v. 1 — 121 extends to all m3»yn of a 72t (not just spit and urine); napa — PMI»Yn 9
i Must mean: mnv 07 (other m»yn could be inferred from 951)
ii @2 cannot infer from 751, who (as ymxn) is bound by ny»a (letting hair grow), nn»a (rending clothes) and wnwn Nor
1 7”2 then 951 can be inferred from napy (and mention of 15t is used for napa MI»Yn via ”...1p 1R OR”)
2 w7z cannot infer napi from 721; as she is NRNVN even LR
(a) 77z thatis only for na1; our focus is y7¥n
(b) w”x: within the discipline of nkn1v, she has that stringency over 73t =»cannot infer 731 from napa
(c) OR: nap» 7o1Y needed to teach that Nt nRMY can begin at any age (n"a get that from v. 2 — arn NN nrr)

9"2v7’s inquiry (reported by qo1 29) —is 1t 1787 of a 10p 2t have status of XNV and power to be Yana xnon?

a

b
c
d

Lemmal: per v. 2, 21 is compared to 1"; since jop doesn’t have 1", it isn’t considered nat
Lemma?2: if he saw a 2nd 1”& the first one would count towards it to generate nxmv, considered nat
Answer (X37): v. 2 — extends to 010p; just as 15t X1 of adult is Xnvn, so too 1t K7 of jop is kNON
Related question (9017 77): does 1t n»7R1 of a ynx¥n have Rwn nrMY (if “healthy”, no Rwn NRMY until 2nd R»RY)
i Clarification: is n2t mpn considered a 1’yn (in which case, Rwna xnvn)
ii  Answer (837):v.3 - R 81V 121 teaches that 211 is ®NY; cannot refer to regular N2, as it certainly is Xnvn
1 Reason: if it generates nXmv for others, it certainly is 8nv on its own
2 Rather: must be about yxn 11; if need verse to extend, evidently not considered 1yn
3 Challenge (1mi77 375): perhaps that 1'p is faulty (as evidenced by nonwnn 1»w — causes Nkn to “escort” but it is MMNY)
(a) Therefore: needed to teach that 21 itself is v
iii ~Challenge (»a5): qov 21 learns from arn n7n nit that all are included (jop as well); napI% 1919 extra >mMI»PYnY YyMen
1 And:arand y7¥n are compared =Pjust as 15t 1”& of ar is RwN2 RNV, s0 too 15t PRI of YN —RWNL RNON

RN 7's rule: 15t n»R7 of a aris considered nar even if it happens vaRa (Pno questions asked of him — see 2:1 rar)

a

b

Source: v. 2 compares 1% 1”87 to 1", which is " even if bR
Challenge: 2:1 021 — if he had 1% n»&v, we conduct and inquiry
i Assumption: that is for establishing nrnyo
ii  Rejection: it is only for counting towards 3 nv&1 for j29p
Challenge: mwn (ibid) — if he had 24 1”&, we conduct an inquiry
i Assumption: must be for nRmY; else it isn’t yIwan (v. 2 - implying that it is not due to an external stimulus)
ii  Conclusion: since 2" clause is re: nRMY, so too 1% clause is NRMYVY — rejection of n™
1 Rejection: perhaps 1% clause is for j27p and 2" is for nrn
Challenge: ®™ (ibid) rules (contra wnan) that even for 3+ n»R3, we require inquiry, for 12p
i Implication: nnan (requiring for 1) rule for np»1a for purposes of kMY
ii  Rejection: they also require np>1a for 129p (only) on first n7”R"
1  And: their disagreement is whether to interpret the word nx (v. 1)
2 pardon’tread "nR” - arn=1; 12w = 2; 9915 =3; in #3, compared to nap1 (NApI 1919) Deven VIR
3 &”7 counts "MR” >arn=1; nk=2; 1an=3; only for fourth is he compared to naprdeven 3 requires np>1a
Challenge: pnx> "1 — a1 was subsumed under »p Yy3; distinguished for X5p and xRN
i A5 no nRmv if seen DN
ii #7177 that he makes nkmv for awin 15vn
1 Must refer to: 1 n»R7 (at 279, he isn’t “subsumed” under rubric of »1p Y»1) - and, not LRI RNVA (contra n™)
2 Rejection: at 1st 1R, he isn’t 2wIM 259N RNVN
3 Rather: pny’ "1 pointed out that ar in 1%t X1 is subsumed under p"3; singled out at 2° n»X1 — PN Hpnh
Footnote (82777 27): an is discolored, loose and comes from “dead meat”, looking like white of fertilized egg
i ris “woven” and looks like white of unfertilized egg
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